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QUESTION 1

What is the primary function of a VRF on a router? 

A. It enables the router to support multiple separate routing tables, which allows the device to handle overlapping IP
addresses. 

B. It enables a router to run BGP and a distance vector routing protocol at the same time, which allows it to serve as a
VPN endpoint between remote sites. 

C. It enables a router to configure VLANs locally, which provides segregation between networks. 

D. It enables the router to provide faster switching through the network by using labels to identify the input and output
interfaces for neighbor routers. 

Correct Answer: A 

 

QUESTION 2

While implementing Layer 3 MPLS VPN, which feature should an engineer use at the PEs to transform the customer
IPv4 prefixes into a unique 96-bit prefix? 

A. RT 

B. VC ID 

C. RD 

D. PW ID 

Correct Answer: C 

 

QUESTION 3

Which two BGP attributes prevent loops in a route reflector environment? (Choose two.) 

A. cluster ID 

B. local preference 

C. origin 

D. originator ID 

E. AS_PATH 

Correct Answer: AD 

Reference: https://www.ciscopress.com/articles/article.asp?p=2756480andseqNum=10 
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QUESTION 4

An engineer is investigating an EVPN traffic flow issue. Which type of traffic should the engineer allow in an EVPN Tree
Service in order to fix this issue? 

A. known unicast from a leaf to another leaf 

B. unknown unicast from a leaf to another leaf 

C. multicast from a leaf to another leaf 

D. known unicast from a root to another root 

Correct Answer: D 

Reference: https://tools.ietf.org/html/draft-ietf-bess-evpn-etree-14 

 

QUESTION 5

Refer to the exhibit. While provisioning a new BGP session between the PE and CE router, you issue the as-override
command. Which statement describes modification of the prefix before being sent to the CE router (10.10.10.1)? 

A. The fourth AS changes, but no other autonomous systems change. 

B. The first and fourth autonomous systems change. 

C. The second and third autonomous systems change. 

D. The first AS changes, but no other autonomous systems change. 

Correct Answer: D 
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